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Chapter 2
How should a manager determine whether to hire expensive, highly skilled workers or cheaper, less skilled workers?

When should a few highly skilled workers be used instead of a larger number of lower quality workers?  What role does capital play?

What measurable factors might we use to get an idea of a worker’s potential skill?

How does a firm determine the profit-maximizing level of labor to hire?  How is this affected by diminishing marginal productivity of labor?

When does it pay to hire risky workers?  What factors should the firm consider?

Chapter 3
What is asymmetric information?  How does it play a role in the labor market?

What is screening?  Under what conditions is screening appropriate?

What is a contingent contract?  How does this help the firm gather information on its applicants?

In a contingent contract, what factors influence the size of the gap between the two wages (w1 and w2)?  In what ways?  Which does the firm have control over?

What role do monitoring costs play?

Suppose that Firm A offers piece rate pay to its employees.  How does this affect the pool of applicants, salaries, and ultimate existence of Firm B which offers a straight salary to its workers)?
Chapter 4
What is symmetric ignorance?  How does it play a role in the labor market?

When is it worth the bother and cost to determine an applicant’s productivity?

How should firms go about assigning workers to specific jobs within a firm?  What factors will be important to consider?
How does the possibility of the screening information becoming public affect the firm’s decision to screen?  Why?

How does screening affect the firm’s ability to attract applicants?  Why might applicants think twice before applying?

Chapter 5
What are the two advantages of using output-based pay?  Explain.

Why is a commission rate of 100% effective at increasing worker effort?  Explain using an example.

Why is input-based pay more often used?
